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1 2 3 4 5 6 7 81 9 10 11 [12]13]| 14 15 16 [17|18] 19 20 21 |22 23 [24] 25 26 2 28
1|3y6au Opucst CepriiBaa 2637797 PB|  45628026]40 123,17]0 0]86,12] 209,29
2|Kapnosa Haranist B'siueciiaBiBHa 2515549 PB| 45628028|40 115,67/ 0 0[87.65] 203,32
3|Ponzen OJbra Bonomumupisaa 2757791 PB| 45636279]40 140]0 0]91,27 231,27
4|[Poman Cepriit BanepiiioBuu 2775740 PB| 45628033]40 115]0 0[86.56] 201,56
5] SIkybeun Oumbra BikTopiBHa 2515787 PB|  45628039[40 127[0 0]89,59] 216,59
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1|dyGinens Haranis BikropiHa 2442945 PB| 4562807640 130,75{0 0[88,01 218,76
2| Ay6insix Jronmuia BitaniiBna 2764064 PB| 4562807740 133,5]0 0[88,07| 221,57
3|Psiba Mapis OunekcanipiBHa 2776258 PB| 45628087]|40 134,5]0 0f 83.6] 2181
4|CrpymiHchKa Bornana MukonaiBHa 2368866 PB| 45628055]40 148,25| 0 0[88.15| 2364
5| Tpau Ounexcanp CypeHoBud 2777315 PB| 4562805640 132]0 0]85,09] 217,09]105,
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